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> A <-c(60,100,50,40,50,230,120,240,200,30)
>A

[1] 60 100 50 40 50 230 120 240 200 30
> hist(A)

> B <- ¢(50,60,40,50,100,80,30,20,100,120)
>B

[1] 50 60 40 50 100 80 30 20 100 120
> hist(B)

(2)RFZEDTY, RERE
>A_mean <- mean(A)
>A_mean
1112 ---&z
> B_mean <- mean(B)
>B_mean
[1]165 ---&Z
> A_var <- var(A)*(length(A)-1)/length(A)
>A_var
[1] 6056
> B_var <- var(B)*(length(B)-1)/length(B)
>B_var
[1] 1005
> A_std <- sqrt(A_var)
>A_std
[1]77.82031 ---%&Z
> B_std <- sqrt(B_var)
> B_std
[1]31.70173 ---%% 5
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>A z <- (A-A_mean)/A_std

>A z

[1]-0.6682061 -0.1542014 -0.7967072 -0.9252084
-0.7967072 1.5163138

[7] 0.1028009 1.6448149 1.1308103 -1.0537096

> B_z <- (B-B_mean)/B_std

>B z

[1]1-0.4731602 -0.1577201 -0.7886004 -0.4731602
1.1040405 0.4731602

[7]1-1.1040405 -1.4194807 1.1040405 1.7349208
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hist(aaa, breaks=seq(10,100,5))
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8 o csvI7AILELTREF—aaa.csv
& txt77 A JLELTHRTF —bbb.txt
- read.csv(‘aaa.csv’) RE(ANVH—) D BHDHIEH AR
read.csv(“aaa.csv’, header=FALSE) Ay&—hALMEE
od read.table(“aaa.csv’) ~NvA—MENZEAVETIR
s 40 o5 0o os 10 15 20 read.table(“aaa.csv’, header=TRUE) ~"v4—n%H554E
Rz 8 read.table(bbb.txt") txtZ77 4 JLIEread.table( )&% A 14
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THART7A )L (table.txt)

No £&HT Al #F #it OETAN#HETANM $HETRM2 I5EX
1 K& B O FE 13 6 10 c
2 X% B L @FE 14 10 13 B
3 BR & FE B 6 6 14 A
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> thl <- read.table(“table.txt”) ~wH —HELAGEHE
> tbl
V1 V2 V3 V4 V5 V6 V7 V8 V9
1 No. &#lT M3 2 #st DIBTRAM MEtT AN HstT A2 58%

2 1 K¥ B B s 13 6 10 ©
3 2 X% 5 HLHpE 14 10 13 B
4 3 A K FE B 6 6 14 A

> tbl_ht <- read.table(“table.txt’, header=TRUE) ~v4% —m$%H515&
> tbl_ht
No. &8 45 #2 #ist DETRAS $ETAM #EtTRAM2 58X

1 1KH 5Bk 7E 13 6 10 ©
2 2K% 5k IFE 14 10 13 B
3 33BN XK IFE L 6 6 14 A

> hist(tbl_ht$iHIBF R k)

Histogram of tbl_ht$>EF2

16 tbl_htSiHETAN 1 9
COEUBRORE LoV I 7 AL ERHRAAEHET > mean(ibl htssthr 72h1)
LEALTHS. (7.
> var(tol_ht$#f&t7T X +2)
> table(tbl_ht$$5E&;%) [1]4.333333
ABC > sd(tbl_ht$#istT R 1)
111 [1] 2.309401
> table(tbl_ht[,9]) > min(tbl_ht$#EE+T A1)
- [1]6
ABC )
111 > max(tbl_ht$#EEtT A1)
[1110
17 20
> for (i in 6:8){print(mean(tbl_ht[,i]))}
[1] 11
> thl_ht[2,] [1] 7.333333
No. &I 3 $2 #iat DETRA #HETAMN #HETR2 I5EE [1]1 12.33333
2 24% B B #HE 14 10 13 B
> tol_ht( 4] > print("RIS & HPOSLUEHE")
[1] 5L L g [1] "RIZE B OELLHEE 2"
Levels: §L> #7E
18 21
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